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New system i.e. Question Paper Cum Answer Booklet (QPAB) will be introduced in the
coming Term End Examination. To get the candidates acquainted with the new system,
now assignment answer is to be given in the specific space according to the instructions.
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BDP Term End Examination December-2019 & June-2020
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1. @ 7' eieew ew e (eifsft wmf@=s 300 =) 20 x 2 = 40

Answer any two questions (not more than 300 words each) :

a)  FT GO TeAM @ b SIelN oM oo fF (IR 2 G S AR Yol
SEATGH Aaob SEbN T | 5eTho W GDP &8 81 Wt GDP- W&y <1<y <5 2

5+10+5

What do you mean by Gross National Product ( GDP ) and Net National Product

(NNP) ? Discuss the value added method for the measurement of National Income.
Distinguish between GDP at Current prices and GDP at Constant prices.

b) (I @0F ©gh RCFE! ACN I | @7 ATl & 2 6T (@FSTI O

SN SN WEF %9 [P 4o 27 ©f e F6 | 10 + 10

Discuss, in brief, the Keynesian multiplier theory. What are its limitations ? How
can you determine equilibrium national income in the Simple Keynesian theory ?

c) ISR MGG IO P (@RIT 2 IS-LM N(OER MRIE PO a0t W& A6 8

I IS SR SRR R R, O Kz 6 | 5+ 15

What do you mean by ‘Crowding Out’ ? Analyse the determination of equilibrium in
the product market and equilibrium in the money market in the IS-LM model.

d  FICREE O AR N, e =9 8 @i o el e 21 o KeEd s 1 20

Analyse how of employment of labour, interest rate and total income are determined
in the Classical Theory.
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2. @AFIET fonit oAmw Teg e (2fe == 180 *I@) ¢ 12 x3 =36

Answer any three questions (not more than 180 words each) :

a)

SR bRl @ IR Wroefoue e, NOTOIFIET 8 LT WH© ¢ Gro
RIERECICRENIECEEACEIENE ol 4+8

Explain how inflation and national income are determined by the interaction of
aggregate demand and aggregate supply in the short run, medium run and long run.

YT NS TTOT AET SN [FOIE@ 2ARRI® F06 ANE@ ©f [S-LM N(SEE AT
Resae 9 | 12

Discuss how monetary policy can change the equilibrium national income with the
help of the IS-LM model.

R afes wwel i 2 SRRl JALTFET ETH T | 2+ 10

What is marginal efficiency of investment ? Discuss, in brief, the acceleration
principle.

bIfRl IfaeTiere Ju~He @ IFRwee JWURet TeH FACHS AE S+ | 12
Discuss, briefly, the basic ideas of Demand Pull inflation and Cost Push inflation.
YaHow FReelT 6 6 2 qurRe g sar FaRe SieEsa s | 6+6

What are the causes of inflation ? Discuss the methods to control inflation.
TV 8 (9G] ITE I IET 2 I B FEF LT @ Forepet Sifeq @y o8 @ Sl
BB vd A AT ? 3+9

What do you mean by recession and boom ? With what types of monetary and fiscal
policies it is possible to control recession and boom ?

29 T€d / First Answer :
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3. G BTG ew ex ey ( eifolt wmiz=s 90 =it ) ¢ 6 x 4 = 24

Answer any four questions ( not more than 90 words each ) :

a)  RNGS ALPE IO FoT5 N FCHE S ST | 6
Discuss briefly the present value criterion related to investment.

b) [T @1 TN @l NS Bl T | 6
Write a short note on Phillips curve.

o) TEEHS T AFIEE B @R 9 F P ¢ 6
What are the different types of inflation and what are these ?

d) Harrod-Domar PR I A A=W (Warranted) 9@ 2 I IET O AR
P | 6
Explain what is warranted rate of growth in the Harrod-Domar framework.

e)  Solow (G AR AN AN SN A ET @36 TS [K7gqe T | 6
Give a brief account of how the steady state equilibrium is attained with the passage
of time in the Solow model.

f) AT BT AP FeT-Spieafed I (time inconsistency problem) @%b
THIRLER I T | 6
Explain with an example the time inconsistency problem in the context of business
cycles.

g SN sifael wglh WEH SAETBA T | 6
Discuss briefly the quantity theory of money.

h) Say-3 [0 @R I | 6

Explain Say’s law.

A TEd / First Answer :



;@ QP Code : 20UA18EEC2
R 4

oot

19 / 24

B.A.-AU-16021




;@q QP Code : 20UA18EEC2 20 / 24
R 4

oo

B.A.-AU-16021

ol Teq / Second Answer :




;@q QP Code : 20UA18EEC2 21/ 24
R 4

oot

B.A.-AU-16021

T Ted / Third Answer :



;@ QP Code : 20UA18EEC2
R 4

oot

22 / 24

B.A.-AU-16021




;@q QP Code : 20UA18EEC2 23/ 24
R 4

oo

B.A.-AU-16021

Bgﬂ Teq / Fourth Answer :



;@ QP Code : 20UA18EEC2
R 4

oot

24 / 24

B.A.-AU-16021




